Sr[So0g|[H2O]4 Structure:
A10B2C_hP39 172 5c_c a-001

This structure originally had the label A10B2C_hP39_172 5c_c_a. Calls to that address will be redirected here.
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Prototype O10S2Sr

AFLOW prototype label A10B2C_hP39.172_5c_c_a-001
ICSD 2933

Pearson symbol hP39

Space group number 172

Space group symbol P6,

AFLOW prototype command aflow --proto=A10B2C_hP39_172_5c_c_a-001
—~params=a, C/av 21,22,Y2,22,T3,Y3,23,T4,Y4,24,T5,Y5, 25, L6, Y6, 26, L7, Y7, 27

e This structure is the enantiomorph of the |Sr[S20g][H20]s4 (A10B2C_hP39_171_5c_c_a) structure. Only the non-hydrogen
atoms are included in the prototype.

e Space group P64 #172 allows an arbitary choice for the origin of the z-axis. We set this by taking z; = 0 for the Sr site.

e The ICSD entry is for space group P6y #171.
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Hexagonal primitive vectors

a; = jza%-— ?ay
as = %af{ + ?ay
ag =— cZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = z1 as = c 7 (3a) Srl
B, = (z1 + %) as c (z1 + %) 2 (3a) Srl
B; = (z1+2)a 1c(32142) 2 (3a) Sr1
By, = To2a; +Yz2az + 2233 = %a(xg +y2) X — §G($2 —Y2) § + 22 (6¢) Ol
B; = —yoay + (w2 — yo) ag + = %a(m2—2y2)§<+£ ary§ +c(z+3) 2 (6¢) Ol
(24 1) g
Bs = —(z2 —y2) a1 — 222 + = —%a (222 — yo) X — ial& y+ (6c) Ol
(2+2)a 1c(3224+2) 2
B = —ZTga; —Yz2a2 + 2233 = %a(% +y2) X+ \éga(@ —Y2) § + 22 (6¢) Ol
Bs = wai—(z2—y2)ast(22+3)as = ia(—a2+2y) i—?amgy—&-c(zg—i— 1)z (6¢) 01l
By = (x2—19y2) ajtuao ag-‘r(Zg + %) ag = % (229 — y2) X+ L ays y + C(3Z2 +2) 2z (6¢) Ol
Bio = r3a; + yzas + 2z ag = % (x3+ys) X — i a(xs —ys)§+czsiz (6¢) oIl
By, = —ysay + (3 —y3) az + =  la(zs—2y3) X i a3y +c(zs+3) 2 (6¢) o
z3 + %) as
Bix = —(x3 —y3) a1 —r3as + = (2m3 —ys3) X — iaygy + (6¢) on
(z3+2) a3 1c(323+2) 2
Bz = —Zzai —Yzaz +zz3as = —3a ($3+y3) X+ ia(% —y3) § +c23 i (6¢) O1I
Bia = ysai—(x3—ys) ax+ (23 + 3) as la(—z3+2y3) X— \Qfal"s J+c(z+3)2 (6c) on
Bis = (z3—y3) ai+as a2+(z3 + %) ag = % (2x3 —y3) X+ i aysy + c(323 +2)2 (6¢) O1II
Big = Tgay + ygas + 24 a3 = %a (xg +ys4) X — L a(xg—ys)§+czai (6¢) O III
By = —ygay + (x4 —ys4) a2 + = %a (x4 —2y4) X i axsy +c¢ (24 + ) (6¢) O III
(24 + %) as
Bigs = —(v4 —ya) a1 —zs22 + = (2954 —ys) X — iay4y + (6c) O II
(z4+2) a3 1c(3z4+2) 2
Big = —ZT4a1 —Ysa2 + 2423 = %a (w4 + y4) X+ %a (T4 —ya) ¥ +cza2 (6¢) O III
Bao = ysa;—(x4—ys) a2+(24 + %) ag = %a —x4+2y4) X— @amy—&—c (Z4 + ) (6¢) O I1I
Bo1 = (w4 — 1) artzsan+ (24 + 2) ag ta(2zq —ys) X+ ‘fay4y+ 2c(Bz4+2) 2 (6¢) O III
By = Tsa; + ysas + 25 ag = %a(a:g; +ys) X — § (x5 —ys5) ¥ + c25 2 (6¢) o1V
Bas = —ysay + (5 —ys) az + =  la(zs—2y5) X+ i ars§ +c(zs+3) 2 (6¢) O1v
(z5 + %) as
Boy = — (x5 —ys) a1 — x5 a2 + = —%a (2z5 —ys5) X — iay5 v+ (6¢) o1V
(25 + %) a3 1c(32542) 2
Bys = —xsa; — Ysaz + 25a3 = —la(zs+ys) X+ \ég (5 —ys) ¥ +c252 (6¢) O1v
B2 = ysai— (x5 —ys) a2+(z5 + %) az = %a (—x5 + 2y5) X — %axg, y+c (25 + %) Z (6¢) o1V



By = (25 —ys) aitaosast(2+3) a3 = ja(2z5 —ys) X+ @ ays § + 3¢ (325 +2) 2 (6c) O

B2s = Teal + Y az + 26 a3 = la(ws+ys) X— ? (6 — y6) ¥ + c26 2 (6¢) oV

B2y = —y6 a1 + (r6 — yo) Az + = ja(we—2y6) X+ L arey +c(z6 + 3) 2 (6c) oV
Z6+ 3) as

Bso = — (w6 — ys) a1 — xgaz + = —5a (26 — ys) X — @a%y + (6c) oV
(26 + 2) a3 3¢(32 +2) 2

Bs: = —Te a1 — Yo A2 1 26 A3 = %OL@CG—F%‘) X+ f a(re —ys) § + c26 2 (6c) oV

Bsz = ysar—(w6—ys) a2+ (z6+3) a3 = 3a(—z6+2ys) X— %axe y+e(s+3)2 (6¢) oV

Bss = (6—ys) atasast(z+2)as = 1a(2z6—ys) X+ Laye ¥+ tc(3z +2) 2 (6¢) oV

Bsy = rra; +yraz + 27a3 =  la(wr+uyr) X— @ (w7 —y7) § + c2r 2 (6¢) ST

Bss = —yrai + (v7 — yr) az + = La(wr—2y) %+ Lazrg+c(er+3) 2 (6¢) S1
(r+1) o

Bss = —(z7 —y7) a1 —z7ag + = —3a(2z7 —y7) X — @am}? + (6c) S1
(27+ %) a3 3¢(327 +2) 2

Bsr = —Zray —Yyraz+z7ag = —za(zr+yr) X+ ﬁa (7 —y7) § +car2 (6¢) S1

Bss = yrai—(vr—yr) ast(er+3)as = fa(—wr+2r) - LPazg+c(sr+1)2 (6c) S1

Bsg = (v7—yr) aitaras+(zr+32)as = La(2wr—yr) %+ fay7Y+ 3¢(327+2) 2 (6¢) S
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